| Efficiency vs Dxy |
0.1

B 0,00 b
< : : : ; : : :
o
S s o o e
T
T N T T ———
004 b
003

dxy

efficien

002 R
S s o s e

10

Ratio

0SS 1y e 0B 1618 50

TP dxy (cm)

7

wgeom
E 4%%LEE%§8%ZHSW§SSQ
Sibar-phase] newdeom

= E 'V‘;U:ix%g SR a‘%d's é"’zb‘ft‘b'a{'ﬁw Y4
[ Efficiency vs Dz | | === DoM-p Sm ge HtehRguar &

xe uare :gE
~0.05 . | X EEBE% atecutehisquarest-st
2.045 § § ; AR S
) : : : : :
L R e e
o : : : : :
ﬁ)035 R
® 5 : : : :
0.03 s
0.025 R N—
0.02 SRS 5 SO | S N
0.015 TS S 1 I S
0.0 AL (121 N 1 I S
0.005 HUITE 11 S —
J..Q I 1)) [ |

Ratio

e R | (1116

T L

30 3 | : 02030
TP dz (cm)




	Contents
	Page 1


